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1. Use the surface integral in Stokes’ Theorem to calculate the flux of the curl of the
field F across the surface S in the direction of the outward unit normal n.

Solution. We calculate the curl

i j k
VxF=|2 8% 21 =(5,2,3)
2z 3x by

and

r, = (cosf,sinf, —2r)
rg = (—rsinf,rcosd,0)
i j k
r, Xrg=| cosf  sinf —2r|=(2r’cosf,2r’sind,r).
—rsinf rcosf 0

Hence, the surface integral is
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s o Jo
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= / (107% cos 6 + 4r* sin § + 3r)drdf
0
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r=2

do

=0

3 6=0
= 127.

<

2. Use the surface integral in Stokes’ Theorem to calculate the circulation of the field
F around the curve C' in the indicated direction.

F = 2%+ 22j + 2’k

C: The ellipse 422 + y?> = 4 in the xy-plane, counterclockwise when viewed from
above.
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Solution. By Stokes’ Theorem, the circulation of F around the curve C' is given
by the surface integral of the flux of the curl of F across the surface S where S is

the surface enclosed by C'. That is,

7{CF~dr://S(V><F)-nda

where n is the normal pointing up in the z direction, since the curve is in counter-

clockwise orientation. We compute the curl

i j k
VxF=|2Z a% 21 =(0,0,2).
2 2r 22

The surface S is parametrized by
r(r,0) = (rcosf,2rsind,0), 0<r<1,0<6<2r
where we observe that when » = 1, the x and y coordinates satisfy the equation

defining C. Then
r, = (cos#,2sin0,0)
rp = (—rsinf,2rcosf,0)

r, x rg = (0,0,2r).

Hence, we have

%F-dr://(VxF)-nda
c s
27 1
:/ / (0,0,2) - (0,0,2r)drdd
o Jo
27 1
:/ / drdrdf
o Jo
2
_ / 240
0

= 4.
L |

Let C' be a simple closed smooth curve in the plane 2x + 2y + z = 2, oriented
counterclockwise when viewed from above. Show that

% 2ydx + 3zdy — xdz
c

depends only on the area of the region enclosed by C' and not on the position or

shape of C.
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Solution. Let F = 2yi + 32j — zk. Then by Stokes’ Theorem,

f2yda:+32dy—xdz—//(vxF)-nda
c S

where n = (2,2,1) is the normal vector to the plane and S is the region in the
interior of C'. Computing the flux, we have

i j k
0 e} 0

VXF:% 9y 0= :(3,1,—2).
2y 3z —x

Evaluting the surface integral, we see

7{C2yda:+3zdy—a:dz://s(v><F)~ndcr
:/[9(3,1,—2).(2,2,1)@
://SGda

= 6Area(S)

as required. <

4. Suppose F =V x A, where
A = (y+22%)i+ e™%j + cos(x2)k.
Determine the flux of F outward through the hemisphere

4+ =1, 2>0.

Solution. By Stokes’ Theorem, the flux of F outward through the hemisphere is
given by the circulation of A around the circle C: 2? + y? = 1 (taking z = 0 in the
equation of S). C' is parametrized by

r(t) = (cost,sint,0), 0<t<2rm
and

r'(t) = (—sint, cost,0)
A(r(t)) = (sint +2-0,¢% cos (cost-0)) = (sint, 1, 1).
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Hence, we have
// F - ndo — f A(r(t) - v (t)dt
x24y2422=1 C

2

= / (sint,1,1) - (—sint,cost, 0)dt
027r

= / (—sin®¢ + cost)dt
0

_ /0 T (% _ %cos(%)) 1 cos(t)dt

= —T.

t=0

Note: many students used the divergence theorem for this question. They calculated
that the divergence of F' is 0 and hence concluded that the flux of F over the surface
is 0. However, this shows that the total flux across the hemisphere (outward) and the
disk on the bottom (downward) is 0, but the question is asking for the flux across
the hemisphere (outward). For the flux across only the hemisphere, use Stokes’
theorem as above to find that the flux is —. <

5. Calculate the net outward flux of the vector field
F = zyi+ (sinzz + 42)j + (e + )k

over the surface S surrounding the region D bounded by the planes

and the parabolic cylinder z = 1 — z2.

Solution. By the divergence theorem, the flux is given by the value of the triple
integral of V - F over D. We have

0

V.F= —
ox

a . 9 0 o B
(W)ﬂLa—y(SlnmﬂLy)ﬂL@(@ +2)=3y
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and so we have

[ x®) e = [[[ v-pav

1 1-x2  p2—2z
/ 3ydydzdx
0

/
1/1—3)23 )
Y
2
/

<222 —6z+6 ) dzdx

y=2—z

dzdx

y=0

z=1—x2

22— 322+ 6z) dx

2=0

(1—2%)3—-3(1—2%)%+6(1 - x2)) dx



